40

f — <><—X
2 /g— - o 0 |
g 1 & F
Hie 1 +
SR 3 =
I " . #/ [ souFJ<s$Q
N 2 v S q g .
N9 ) 2 R s 8
M E7 S g
N | Ny | L
N2 @ ©
— N3 ® B
N1
INPUT o 00
- 300
P225...P250 w0
495
I M M1 M2 N N1 N2 N3 N4 X P Jico
F903 _ [P8o 19 | 218 6 200 | 165 | 130 | — | MiOx145| 4 | 5205 | 442
F903  |P90 24| 213 8 200 | 165 | 130 | — | M10x145| 4 | 5205 | 442
F903  |P100 28 | 313 8 250 | 215 | 180 | — | Mi2c6 | 45 | 5305 | 446
F903 [P112 28 | 313 8 250 | 215 | 180 | — | Mi2x16 | 45 | 5305 | 446
F903  [p132 38 | 413 | 10 | 300 | 265 | 230 16 14 5 567 | 449
F903 |P160 42| 453 | 12 | 350 | 300 | 250 | 23 18 6 | 6225 | 463
F903 _[P180 48 | 518 | 14 | 350 | 300 | 250 | 23 18 6 | 6225 | 463
F903  |P200 55 | 503 | 16 | 400 | 350 | 300 | — | Mi6x25 | 7 | 647.5 | 485
F903 |P225 60 | 644 | 18 | 450 | 400 | 350 | 30 18 6 693 | 485
F903  [P250 65 | 694 | 18 | 550 | 500 | 450 | 30 18 6 723 | 507
F904 _|P63 1 12.8 4 140 | 115 | 9 — [ wex9 | 4 584 | 448
Fo04 _|P71 14| 16.3 5 160 | 130 | 110 | — | Msxie | 45 | 584 | 448
F904 _|P80 19 | 218 6 200 | 165 | 130 | — | MIOx145| 4 | 6035 | 450
F904 [P0 24| 213 8 200 | 165 | 130 | — | M10x145| 4 | 6035 | 450
F904 _ |P100 28 | 313 8 250 | 215 | 180 | — | Mi2xi6 | 45 | 6135 | 454
F904 _[P112 28 | 313 8 250 | 215 | 180 | — | Mi2xi6 | 45 | 6135 | 454
F904  [P132 38| 413 | 10 | 300 | 265 | 230 16 14 5 650 | 455
F904  |P160 42 | 453 | 12 | 350 | 300 | 250 | 23 18 55 | 7005 | 461
F904 _|P180 48 | 518 | 14 | 350 | 300 | 250 | 23 18 5.5 | 700.5 | 461
A
201 E
132.5 Fa
F2 h9 o fi:t | F3
® e
z 3 !
,! A o Ji el 2 o ;
gl I 5 g °
L — & £
e —e = ) §
i
M30x50
61.5 270
5
1"
367.5
@ P A E F F1 F2 F3 F4 v o
Fo03 | o 806.5 140 60 64 18 10 120 | Mi6x36 | 485
F904 6735 50 24 27 8 25 45 MBx19 452
@ BonflghOIl 441 /582

Riduttori



H100 H90 @
STANDARD
28 25 & &
] ]
- - o
o
SN 00N ¢
oo 010 &
% e &
100G7 90 G7 3355 ]
367.5
4415
100 2215 110 69 Nm
B
J I N R I — I &
i ~N
. . s =
:
284 333 &
210
28 h9 10 190
P
| iy
| F90..R SRV [ — -
‘ ‘ — Te o
M24x50
100 h6
5 24
e o
o &
e o
74
442 1582 @ Bonfiglioli

Riduttori



65 ACCESSORIES

Anti-vibration kit

The gearboxes of the F series are supplied with an anti-vibration kit at customer request.

The kit includes all components required for shaft mounting (torque arm is out of scope). Dimensions
are shown in the following table.

12T,

=i

ay

T.E. UNI 5737
F3 F4 F6 F7 HD L1T L2T D1T D2T M Mt ft
(max.) [Nm]

F10 140 20 55 10 12.3 15 5 11 30 M10x80 10 1.5
F 20 160 20 55 10 12.3 15 5 11 30 M10x80 10 1.5
F 25 162 20 65 20 14.8 20 5 12.5 40 M12x100 20 1.5
F31 170 20 65 20 14.8 20 5 12.5 40 M12x100 20 1.5
F41 218 16 61 24 14.8 20 5 12.5 40 M12x100 20 2.3
F 51 278 20 90 47 23 30 10 21 60 M20x160 50 3.0
F 60 325 26 96 41 23 30 10 21 60 M20x160 50 4.0
F70 370 30 122 50 28 40 12 25 80 M24x200 100 4.0
F 80 430 36 128 44 28 40 12 25 80 M24x200 100 6.0
F 90 515 40 175 40 33.2 60 15 32 100 M30x260 200 9.0

ft = shortening of the rubber buffer under rated torque transmission.

@ Bonfiglioli

Riduttori

443 /582



